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18 AFEHAEY Ho|of MHE A X AANS S4H) 526,900
2E 2016220 & X| A A r°* HALO] HE HARRI R AALHS S(8) 1,266,000
3¢ ST T J|2MA| 2YS| JHE|0f M2 HOIZT AAK S S(4) 787,900
4 XY HEE7E 2HED|of e 2A X A S %(47d) 341,000
53 UF 2L 7|2 A Folof MHE BAXE AALH S S4H) 444,000
6 AFSBITYCH OLSCLL 2H|S 03| PP HZO| M2 AKX AAK B S(82) 1,024,000
7E AARIZEA| JAFEX|H HEHz|olof [HE ZA X MALK S S7A) 1,149,000
8 CHO|L Y mESSH Holof mE AKX AAHS S(6) 1,237,000
98 THCH S O|X| MotA HItof e BIte| | AMAHS S(5H) 592,000
108 XNXHEZ=HE AL T2[0f IHE ZHAX AAHS S(12) 333,000
= HFEZotm Y o mE Ui & EEX} AAHNS S7H) 1,145,000
A 8,845,800




